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Model Question-paper

de- 3 (Set- 3)
- 9 [EARSRCEIC) quiieh- 40 AT — 1:30 TeT
(Class-9) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 9T 1 W YR 7 Teh ATTTERIT 9T & | 3o U Tohedl 9r<r 9l & 3o
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 ook T T § | SoTH U Tohagl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT GEAT 15 @ YT 19 deh SIU3a4rT YT ¢ | 578 & faregl i weaT &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Section - A
freel aTo wealt & 39X dfST (Answer any five questions) 2x5=10
U AT T TRATIOT FIRIT| ZIE 979 3% 912 F i+ Hael Iqru]|

Define one watt. State the relation between Horse power and Watt.

AT AT T AT TLN FAT Fgd 872

Why are sound waves called mechanical waves?

Sg FT HIAT FTHATT AT HY

Find the molar mass of Ss.

1U BTSN TAT 1 TTH GTES o H TLHATIEAT i H&aT fohast gir?

What will be the number of atoms in 1u Hydrogen and 1gram of Hydrogen.

Na+ &7 Terareiieh [Eawame ToT TSI TAFEIA hi H&AT TdqTU|
State the electronic configuration of Na+ and the number of valence electron.

HATLAT T ST T Ao % Hred § gl 272

Malaria disease is caused by the bite of which mosquito?

T AHFHTHSE TN o A7 ferfem]

Name two non-communicable diseases.

Section - B
foregl 9TTr Weall & 3aX AfSw(Answer any five questions) 3x5=15
T FT 10 e # 1000 ST Fo=d Soft it @Ud FTdT &, THehl afeh 97 872

A lamp consumes 1000 joule of electrical energy in 10 seconds, what is its power?

T T TCATIOT 90| TH FF [Merad AT STar g @91 sar S.| /e o)

Define Wavelength, How it is denoted and write its S.1 unit.

Q.10 8g HAFHIST H T[T T HEAT AT HITST

Find the number of molecules in 8g of oxygen.

Q.11 fFRefefea & g=wm 19 F:10

Find the mass of the following.



Q.12

a) 5 ¥ N 9ZaTEt (5 mole N atoms)
b)  3.011x 10 23 Ar=giea azaToE (3.011x 10 23 nitrogen atoms)

et e o TRAT9L | 11 Tieid qo97 12 <[ 8, 39 TLHI] T GLHT] §6dT, TAAE g&7 37

TATSTHAT ST FL

Q.13

Q.14

Q.15

The atom of an element has 11 protons and 12 neutrons, find its atomic number,

mass number and valency.

AT T 97 22 T8 90T | fx 9 3 F7-47 10T 872

What is the ozone layer, what are the reasons for its depletion?
o FaTee it e Rufaat sarzul

State the necessary conditions for good health.

Section - C
fopeel i weat & 39T fST(Answer any three questions) 5X3=15
(a) ST TohelT FE 9T @ ATAT a7 I6eh [T #hl (9T | g1 a7 T T FHTF FT (e @l

(b) 1500 ToIT T T T FHTT 30 FHHT/TUT & o7 & 9 Lol &, a9 & 60 HEi/=er a5 Ja+ |
ERIERIEIRE AL

(a) Write the expression for the work done when the force on an object is in the direction of

its displacement.

(b) A car of mass 1500kg is moving with velocity 30km/hr, find the work done in increasing

the velocity to 60 km/hr?

Q.16 (i) SITET TAT Taed T § o fav ferfam

Q.17

(ii) ™ & Safeaa srgiaai &1 909 #7T7 8
G EEERE=IT] (b) TeTEATR
(i) Write three differences between transverse and longitudinal waves.

(i) What is the range of frequencies associated with (a) Infrasonic sound (b) Ultrasound?

a) TETHIE T TLATI] T ATIHF FIeo F47T AT?



b) TETHTE & TLHATI] AiSA | FT FHeAt off? Feq qIT, IT FHEAT H1 gL FLA & 7T TTAT H7 77
TAT A TATHT?

a) What was Rutherford's atomic model?

b) What were the drawback of Rutherford's atomic model?To overcome those drawback

what was new model that Niels Bohr proposed?

Q.18 HHTHE TRTE o FeA F T o (70 =TT | -1 |7 GradT«ar aaeq® g2

What precautions are necessary in school to prevent the spread of infectious diseases?

Q.19 TS = HT AE =7 aqTd gU ATEAT Fil

Draw the nitrogen cycle with flow diagram.



